SotLwTioNS

Math 259 Winter 2009

Quiz #6

1. In each part of this problem you are given an equation that you should interpret as the equation of
a surface in 3D. For each equation:

(i) Identify the type of surface (plane, sphere, elliptic paraboloid, etc.).
(i) Locate the x, y and z intercepts (if any).

(iii) Use the axes provided to draw an accurate sketch of the surface.

(a) (3 points) dx + 5y + 10'z = 20.

The surface 1S o Pla\.nr_.‘

X -intercept : (5,0, 0) (Sey & Z =0),
y - intercepi: (o, 4,0 ) (Set x&2 =0)
z -~intercept: (0,0, %) (sef x8Yy =0O),
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SoLuTIONS

In each part of this problem you are given an equation that you should interpret as the equation of a
surface in 3D. For each equation:

{1 Identify the type of surface (plane, sphere, elliptic paraboloid, etc.).
(i) Locate the x, y and z intercepts (if any).

(iii) Use the axes provided to draw an accurate sketch of the surface.

®B) (3 points) X =z+3.

The surfacr is o cylinder +hat extends alnqs Jhe

y- ax.is.
X jntercephts : (V¥,0,0) and (=V3,0,0)
y - n Hreepls None

2 - Intercept (0,0, —3)




SowLuTIONS

In each part of this problem you are given an equation that you should interpret as the equation of a
surface in 3D. For each equation:

{i) Identify the type of surface (plane, sphere, elliptic paraboloid, etc.).
{ii) Locate the x, y and z intercepts (if any).

(iiiy  Use the axes provided to draw an accurate skeich of the surface.
(©0 (3 points) 2 +4y' -2 =4

The surfoce. s o hyperboloid ©0f one sheet.

The \'r\'l*-e.rcg,P-&-.s are !

X ~intercepts ! (-=2,0, o) ond (2,90, o)
Y-inkrcephs ¢ ( D,"I,D) a.nd (0,‘, o).
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SoLurmonys. .

2. (1 points) Does the limit:
Lim Xy

(5) = (00) {515

exist or not? Either calculate the value of the limit (showing your work — no work means no
credit) or demonstrate that the limit does not exist.

C.la.;'n\: Lim x Y = 0.
(x,¥) ¥ (o,0) \/X""’Yz

(x-y)* =0

x’——z.x.j*j" » ©

x* + 9? > 2wy
Se  that I"j] < _l'z(x1+j1)-
et § = 2 € and asSume xtyyr < & = 26€,
Then :
x. Y lx. yl 2(xt+yt)




